@66‘% @ Ch A B

0|, b
(% — 6x+4)(dx+3)— 1 x 2x + 4 (2x + 3)(3x% — 5x + 5)— (3x — 1)(4x + 3)
(4x + 4)(6x% — 4x + 2) — (2x — 3)(6x — 2) (6x + 1)(4x® — 3x+ 3) — (6x + 4)(x — 3)
(5x — 5)(5x° + 5x + 6) + (2x + 6)(x — 5) (4x* —x—3)(x—5)—5x3x+ 1
G+ 2)(° = 2x— 1) — (6x + 6)(2x — 4) (2x* — 6)(x—3)—6F —2x — 5
(6x — 2)(4x° — 6x + 4) — (2x — 4)(2x — 2) (6x — 2)(4x — 3)(4x + 4)

www.snowmath.com



https://www.snowmath.com

0076

0| &

(2 — 6x+4)(4x+3)— 1 x 2x+ 4
4 — 21x% — 4x + 16

(4x + 4)(6x% — 4x + 2) — (2x — 3)(6x— 2)
24x° — 4% + 14x+ 2

(5x — 5)(5x% + 5x + 6) + (2x + 6)(x — 5)
253 + 2% +x— 60

(x+2)(% —2x— 1) — (6x + 6)(2x — 4)
X =122+ Tx+ 22

(6x— 2)(4x> — 6x + 4) — (2x — 4)(2x — 2)
24x> — 48x% + 48x— 16

=Rt e

(2x + 3)(3x% — 5x+ 5) — (3x — 1)(4x + 3)
6> — 13x% — 10x + 18

(6x+ 1)(4x% — 3x+ 3) — (6x + 4)(x — 3)
24x3 — 2057 +29x + 15

(4> — x—3)(x—5)—5x3x+ 1
43 — 212 — 13x+ 16

(22— 6)(x—3)— 6 —2x—5
2% — 12x% — 8x + 13

(6x — 2)(4x — 3)(4x + 4)
96x> — 8x — 80x + 24
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